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4.1 � !������	�������	���	 
 �����)��#�$����� ��)�*+������#�$�������
����������  �
�����$$'��� �����

".$)��$�����
�
�(�	�& 4.1 �
��/�$��������".$)�������	
"�$%�N����)��#�$����� ��'���(�
)�*+������#�$����� "��#��$��$$���".$)��$����� ��)�*+������#�$�����	�&�
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o ����*�	�&-����".$)��$����� ��'���(�)�*+����,"����;#�$������
�#�.���,��

$������
;(� ��
 ��%
.&���' �O��	�����".$)��$������#�,�
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�(�	�& 4.1 ��$$���".$)��$����� ��'���(�)�*+������#�$����� 
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4.2 ��	#����#����������������	���	��$�
�
�%��&'�#�����$�$ 

��
�����������
������������������� ! �
��/�+�B�����"��#��$�/������%��&�% ��'���(�
)�*+��$��������(
�
���",��%��&�'��� %�.&��#�-(��#�$������
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	�%$���%��&�% ��#�.����$%���&��
'���(�)�*+��$�����'�
 �%�
	�&�
��
	�%$������ ���"����;%��&�% ��'���(�)�*+������*�	�&��

��,��'���(�)�*+��$����� GH&
��
�����������
�����$$����	������",�����%�N���)������	��
�������
%�O$'���(����(�'�
 ��
�$%$����(%���Q�! �
����)�
"���
����	����
�
�(�	�& 4.2 

��� ����,�
+�B���
�$%$����(%��	�&�
������������	�%� GH&
�/�%�N� ���$$����������
������������� !��",������"


�
�(�	�& 4.3 �����",��'�
�����%���
'�
��
�$%$����(%��	�&
����$$�
����	�%��"

��+�)-��� �. 
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  65 
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+�B���
�$%$����(%��"��#��$��
%�O$'���(�)�*+������#�$����� 
 

"��#��$������������� !	�&�/������ �
 ,���$-(��#�$����� 	�&%'�����
	�%$���%��&�% ��
'���(�)�*+������#�$��������(
�
���",��%��&�'������� -(��#�$������� ��
	������O�����%'����$$
�,���H
��"����;	��������$���
'���(�)�*+������#�$������
� GH&
������������� !
�
��,��
�"

#��� GUI (Graphic User Interface) 
�
�(�	�& 4.4 

��'$�����	��
��'�
������������� !���� %��&����-(��#�$������O�����%'����$$���� 
"����;�����$$Q��!�"��#��$���$���
'���(�)�*+������#�$�����'�
 �%�
 %�.&�����'���(�
%���$�������� ���������
��Y����$���
��������� ���"�$'���(����Q�!��
�$%$����(%���,���,�
��'���(���(,�,��#�.���, ;������(,�����O��	��������$���
#�.�%���&�����
'���(����Q�!��
�$%$����(
%��� ,;����
��,��'���(��O��	�����%��&�'���(�
�
��,������
�$%$����(%���Q�! -����I!��������"



�
�(�	�& 4.5 ��� ����,�
�Q�!��
�$%$����(%��#��
���%��&�% ��'���(��"


�
�(�	�& 4.6  

<?xml version="1.0"?> 

<rdf:RDF    xmlns:rdf="http://www.w3.org/1999/02/22-rdf-syntax-ns#" 

  xml:base="http://www.owl-ontologies.com/unnamed.owl"> 

  <owl:Ontology rdf:about=""/> 

  <owl:Class rdf:ID="qos_services"/> 

  <owl:DatatypeProperty rdf:ID="cost"> 

    <rdfs:range rdf:resource="http://www.w3.org/2001/XMLSchema#int"/> 

  </owl:DatatypeProperty> 

  <owl:DatatypeProperty rdf:ID="process_Time"> 

    <rdfs:range rdf:resource="http://www.w3.org/2001/XMLSchema#float"/> 

  </owl:DatatypeProperty> 

  <owl:DatatypeProperty rdf:ID="aviable_Pecentage"> 

    <rdfs:range rdf:resource="http://www.w3.org/2001/XMLSchema#int"/> 

  </owl:DatatypeProperty> 

  <qos_services rdf:ID="a_search"> 

 <cost rdf:datatype="http://www.w3.org/2001/XMLSchema#boolean" >false</cost> 

<process_Time rdf:datatype="http://www.w3.org/2001/XMLSchema#float">6.3</process_Time> 

<aviable_Pecentage 

rdf:datatype="http://www.w3.org/2001/XMLSchema#string">98.2</aviable_Pecentage> 

  </qos_services> 
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�(�	�& 4.5   ����,�
 GUI #��
���%��&�% ��#�.����$���
'���(�)�*+������#�$����� 
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<?xml version="1.0"?> 

<rdf:RDF    xmlns:rdf="http://www.w3.org/1999/02/22-rdf-syntax-ns#"  xml:base="http://www.owl-

ontologies.com/unnamed.owl"> 

  <owl:Ontology rdf:about=""/>  <owl:Class rdf:ID="qos_services"/> 

  <owl:DatatypeProperty rdf:ID="cost"> 

    <rdfs:range rdf:resource="http://www.w3.org/2001/XMLSchema#boolean"/> 

  </owl:DatatypeProperty> 

  <qos_services rdf:ID="a_search"> 

 <cost rdf:datatype="http://www.w3.org/2001/XMLSchema#boolean" >4000</cost> 

<process_Time rdf:datatype="http://www.w3.org/2001/XMLSchema#float">6.3</process_Time> 

<aviable_Pecentage rdf:datatype="http://www.w3.org/2001/XMLSchema#string">98.2</aviable_Pecentage> 

  </qos_services> 

  <qos_services rdf:ID=8b_search"> 

 <cost rdf:datatype="http://www.w3.org/2001/XMLSchema#boolean" >3000</cost> 

<process_Time rdf:datatype="http://www.w3.org/2001/XMLSchema#float">10.0</process_Time> 

<aviable_Pecentage rdf:datatype="http://www.w3.org/2001/XMLSchema#string">95.0</aviable_Pecentage> 

  </qos_services> 

 
�(�	�& 4.6   ����,�
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�$%$����(%���Q�!#��
������$���
'���(�)�*+������#�$����� 

 
4.3 '�)���	�������	���	�����������������	����	���	%�&��*�	���&��!+��� � 

���".$)��$����� ��'���(�)�*+������#�$���������	������I!J$�$��� �
�����������
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����/�+�B����!
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-(�'��/�$���������
�".$)��$����� ��%
.&���'	�& ��
��� �
��
����#�
������% ��!
'���(�)�*+��$�����"��#��$���	
"�$"��������% ��! ).�),�)���"����;�/�
���
�'�
%�O$
%G��!��" (Availability), %���������-�%�O$%G��!��" (process time) ���),��/��,�����%�����/�
��
%�O$%G��!��" (cost) �
�),�#�,����
 ,�
] '�
'���(�)�*+���"


�
 ���
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�&'�#����#��� 
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 ���
	�& 3 #�,����
"��#��$'���(�)�*+�� 
'���(�)�*+��$����� #�,����
 

availability %���!%GO� ! 
process time ����	� 

cost $�	 

 
��",��'�
���".$)��$���������
�����$$������������� !-,��%�O$�#�-(�'��/�$�����

�
�����'���(�-,��%�O$
�
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���(�	�& 4.7 
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����*����".$)��$����� ��'���(�)�*+������#�$������������
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�����
".$)��$������#��
� ���
%��	�& ��
����,�� %/,�����*�	�&�/������	
"�$'�

�������
��	������I!J$�$����
��/�����	����'�
��	�%� (OTA) %�N� ���$$�����	
"�$���".$)���
�
�
%�� 
�
���������".$)��$�������'��� ��  ��
".$)��$����� �
�������#�
�
%������	�%�GH&

��$�����%�O$%G��!��"���)��#�������%/,�$�����)��#�#��
���, $�����)��#��
��#��, $�����)��
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SELECT ?SERVICES , ?a, ?b, ?c 

WHERE (?SERVICES, <p:process_Time>, ?a) 

(?SERVICES, <p:aviable_Pecentage>, ?b) 

(?SERVICES, <p:cost>, ?c) 

AND ?a"+operSearch1+processSearch+", 

?b"+operSearch2+availabilitySearch+", 

?c operSearch3 "+costSearch+" 

USING p FOR <" +ns_ontology + ">" 

 

�(�	�& 4.9   ����,�
�)a
���!
�)��%��"��#��$���".$)��$����� ��'���(�)�*+������#�$����� 
 

4.3.1  ��	#,	�$�#��$��	���	�	��%�&��*�	���&��!+��� � 
�����)��#�$����� ��'���(�)�*+��$������
���,�����*�����#�������;H
�����,�����,��

��������*�����#���'�
'���(�)�*+�� ��-(�'��/�$������O���
��(, � ,��
�����������O�
������*�;H

)�������%)��
#�.�;(� ��
 ��'���(�'�
-(��#�$��������	�&"�

����
���������*�),� ,�
]          

�
 ���
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 ���
	�& 4 ��������*�)����'�
'���(�)�*+��$����� 
'���(�)�*+�� #��������*�)���� ���%���
)���� 
availability ��&
�����&

� �����#����� 
process time ��&
������&

� ������#���� 

cost ��&
������&

� ������#���� 
 
���"��#��$��I�����#�)����"��#��$$������ ,��$������������#�)���� ��"���� (3) 

  

 
 
%�.&�  
s    ).�),�-����%����$%	��$ ��%
.&���' 
n    ).�������'�
$�����	�&;(� ��
 ��%
.&���'���)��#� 

1  

     n 
* s  = i (3) 
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i    %�N����
�$'�
$�����#��
�����
%���
'���(� ��%
.&���' 
 

����Q�!��
�$%$����(%��	�&-(��#�$������
��
	�%$��������),�������% ��! ,�
] '�
� ,��$�����
�

�"

�� ���
	�& 3 
 

 ���
	�& 5 '���(�)�*+��$�����	�&-(��#�$������
	�%$������ 
/.&�$����� Availability process time cost 
a_search 50 6.5 4000 
b_search 50 5.5 3000 
c_search 80 11.7 4900 
d_search 67 4.5 1000 
e_search 60 2.5 0 
f_search 46 3.6 0 
g_search 87 6.5 0 
h_search 50 9.0 1000 
i_search 40 8.0 1500 
j_search 35 3.5 500 

 
���������".$)��$����� ��%
.���''���(�)�*+��$����� ����,�
	�& 1. ��%
.&���'
�
 ���
	�& 4 
 

 ���
	�& 6 %
.&���'���".$)��$����� ��'���(�)�*+�� 
'���(�)�*+�� %
.&���'���".$)�� 
availability �����,� 45 % 
process time ������,� 10 ����	� 
cost ��,��),��/��,�� (=0 $�	) 

 
-����".$)��$����� ��+�B����!
�)��%�����(�	�& 4.9 ���
�$����� ,�
 ]
�
 ���
	�& 5 
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 ���
	�& 7 -����".$)����%$.��
 ��������!
�)��%�� 
/.&�$����� availability process time cost 
e_search 60 2.5 0 
f_search 46 3.6 0 
g_search 87 6.5 0 

 
��� ���
	�&5 %�N�-����".$)��$����� ��'���(�)�*+������#�$����� ��%
.&���'	�&-(�'�

�/�$����� ��
����������-�
�
��,������
%���
)���� �����
�$)�������%)��
��$%
.&���' �
���
��	������I!J$�$����
����#�
%�N� ),� j %�.&��
�),�'���(�)�*+��'�
� ,��$�����	�& �
 ��%
.&���'
�����O���-�'�
$������ ,�� ����	�����#�),�'�
-����%����$%	��$)���� ��"���� (3)   

������)����* ��"���� (3) GH&
�
�-� �� ���
	�& 7, 8 ��� 9 ��%�N�),�'�
 s1, s2 ��� 
s3 ��"���� (4)   �����
�$  
 

                                                    (4)  
 
%�.&� 
scroe  ).� -����%����$%	��$%�.&�����������*�),�����#������������% ��!)�*+��	��
#�
 
w1    ).� ),�����#��� process_Time  
w2    ).� ),�����#��� availability 
w3    ).� ),�����#��� cost 
s1    ).� ),�-����%����$%	��$ process_Time ���"���� (3) 
s2    ).� ),�-����%����$%	��$ availability ���"���� (3) 
s3    ).� ),�-����%����$%	��$ cost ���"���� (3) 
 

 ���
	�& 8 -����#�)����'���(�)�*+�� (availability) 
/.&�$����� availability j s1 

e_search 60 2 ( 1/3) * 2 =  0.66666 

f_search 46 1 ( 1/3) * 1 =  0.33333 

g_search 87 3 ( 1/3) * 3 = 1 

w1 * s1  +  w2 * s2 +  w3 * s3    

= 
w1 +  w2  +  w3     

score 
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 ���
	�& 9 -����#�)����'���(�)�*+�� (process time) 
/.&�$����� process_Time j s1 

e_search 2.5 3 ( 1/3) * 3 =  1 

f_search 3.6 2 ( 1/3) * 2 =  0.66666 

g_search 6.5 1 ( 1/3) * 1 =  0.33333 

 
 ���
	�& 10 -����#�)����'���(�)�*+�� (cost) 

/.&�$����� cost j s3 

e_search 0 3 (1/3 ) * 3 =  1 

f_search 0 3 ( 1/3) * 3 =  1 

g_search 0 3  (1/3) * 3 =  1 

 
    '��� �� ,���%�N�����#�)���� ������#��� ��)�������'�
-(�'��/�$����� GH&
��

��*����-(�'��/�$����� ��,�
����#�
����#���'�
� ,),�'�
'���(�)�*+��$����� '�
��$$��
���#�
�#�����#���%	,����#�
).�%	,���$ 1 %�.&����-����I!��)����*��"����	�& (4) ���-�	�&�
���
%�N�
�
 ���
	�& 9 /,�
)�������-����%����$%	��$�,��",
���$����
-(�'��/�$����� 

 
 ���
	�& 11  -����%����$%	��$$����� ��'���(�)�*+��$�������,�����*�),�����#��� 

/.&�$����� availability process time cost )������� 
e_search 0.66666 1 1 0.88888 
f_search 0.33333 0.66666 1 0.66666 
g_search 1 0.33333 1 0.77777 

 

     ���-����%����$%	��$$���������*���� ���
�-����I!$�����	�&��)�������"(
"�
).� 
e_search 
�
����$�����
�
��,����;(�",
���$����
-(�'��/�$����� "��#��$����*�	�&-����I!%	,����
������� �$���$���#�-(�'��/�$�����"����; �$���$ 	��
"��$�����#�.�	���$������O�
�����*�
 �$���$	���$���������/�)�*"�$� �'�
%G"/�&� (Session) %'��/,�� 
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4.4 ��	�������	���	�����������������	����	���	��*�	���&��!+��� � 

����*����".$)��$����� ��'���(�)�*+������#�$����� %�.&������*� ��),�����#���
"��#��$),�����#�������	������I!J$�$��� ).�����#����
�$)���"��)�m�����,�'�
������% ��!	�&
%�.���/� �
��
�	����������������������� ! "��#��$���	
"�$���".$)��$����� ��'���(�
)�*+��$����� GH&
-(�'��/�$������
��",'���(�"��#��$���".$)��'���(�)�*+������#�$�����	�&
 ��
��� -,��#���%�O$�"


�
�(�	�& 4.10 ",�� ����,�
�)�
	�&�/�"��#��$���".$)��$����� ��
%
.&���'"����;%'���
���+�B����!
�)��%�� �
�
�
�(�	�& 4.11 

 

 
 

�(�	�& 4.10   ����,�
����������".$)��$����� ��'���(�)�*+�������*�),�����#��� 
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SELECT? SERVICES 

WHERE  (? SERVICES, <p: availability Percentage>,?c) 

          (? SERVICES, <p: process_Time> ,?d)  

          (? SERVICES, <p: cost> ,?e) 

  AND ?c >= 80 

  AND ?d < 20 

  AND ?e < 5000 

USING p FOR <http://localhost:8080/qos_services.owl#> 

 

   
 
 
 

 
 
 
 

�(�	�& 4.11   ����,�
+�B����!
�)��%�� "��#��$���".$)��$����� 
 

%�.&�-(��#�$������
��Y�)��#��O���
�-����I!
�
�(�	�& 4.12 GH&
%�N�-����".$)��$��������
�$�����
 �� ��
����
�-,�����'$�����%����$%	��$ ��"���� (3) ��� "���� (4) %���$�������� GH&
��
%#O��,���%���
$����� g_search $�����%
���%	,�����	�&;(�%�.������ �$���$����
-(�'��/�$����� 
 

 
 

�(�	�& 4.12 -����)��#�$����� ��'���(�)�*+������#�$������
������*�����#��� 
 
 



  76 

 

4.4.1 ��	#,	�$�#��$��	���	�	����*�	���&��!+��� ������������� 

"��#��$�����%����$%	��$$����� ����*����%�N����%����$%	��$'���(�)�*+����
�#�$����� ��#�,�
'���(�'�
-(�'��/�$��������
'���$'���(�)�*+������#�$��������(
�
���",��
%��&�'����
������*�%J���'���(�%$.��
 ��
�
���  

 
 ���
	�& 12 %
.&���'���".$)��$����� ��'���(�)�*+�����),�����#��� 
'���(�)�*+�� %
.&���'���".$)�� ),�����#��� 
Availability �����,�#�.�%	,���$ 80 % 3 
Process Time ������,� 20 ����	� 2 
Cost ������,� 5,000 $�	 1 

 
���".$)��'���(�	�&-(��#�$������
����
������
�(
�
���",��'��������
�$%$����(%���Q�! 

'���(�)�*+������#�$�����GH&
-����".$)���
�
�
 ���
	�&11  
 

 ���
	�& 13 -����".$)����%$.��
 ��������!
�)��%�� 
/.&�$����� availability process time cost 
c_search 80 11.7 4,900 
g_search 87 6.5 0 

 
��� ���
	�&11 %�N�-����".$)��$����� ��'���(�)�*+������#�$����� ��%
.&���'	�&-(�'�

�/�$����� ��
��� %�.&��
�),�'���(�)�*+��'�
� ,��$�����	�& �
 ��%
.&���'�����O���-�'�

$������ ,�� ����	�����#�),�'�
-����%����$%	��$)���� ��"���� (3) �
�-����I!
�
 ���
	�& 
12, 13 ��� 14 

 
 ���
	�& 14 -����#�)����'���(�)�*+�� (availability) 

/.&�$����� availability j s1 

c_search 80 1 ( 1/2) * 1 =  0.5 

d_search 87 2 ( 1/2) * 2 =  1 
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 ���
	�& 15 -����#�)����'���(�)�*+�� (process time) 
/.&�$����� process_Time j s1 

c_search 11.7 1 ( 1/2) * 1 =  0.5 

d_search 6.5 2 ( 1/2) * 2 =  1 

 
 ���
	�& 16 -����#�)����'���(�)�*+�� (cost) 

/.&�$����� cost j s3 

c_search 4900 1 (1/1) * 1 =  0.5 

d_search 0 2 (1/2) * 2 =  1 

 
 GH&
�����)����*�
�-� �� ���
	�& 12, 13 ��� 14 ��%�N�),�'�
 s1, s2 ��� s3 ��"���� (4) 
 �����
�$ '��� �� ,���%�N�����#�)���� ������#��� ��)�������'�
-(�'��/�$����� GH&
��
��*�	�&-(�'��/�$�������,�
����#�
����#���'�
� ,),�'�
'���(�)�*+��$�������$$�����#�
�#�
����#���%	,����#�
).�%	,���$ 1 GH&
)����*����
����"����	�& (4) ���-�	�&�
���%�N�
�
 ���
	�& 15 
/,�
)������� 
 

 ���
	�& 17 -����%����$%	��$�,��",
���$����
-(�'��/�$����� 
/.&�$����� availability process time cost )������� 
c_search 0.5 0.5 0.5 0.5 
d_search 1 1 1 1 
 
J�����-����".$)��	�&�� �$���$�#�-(�%�����/�$�������%�N�$�����'�
 d_search GH&
%�N�

$�����	�&����%)��
��$-(�%�����/�$��������	�&"�
 
 

4.5 ��	�������	���	�����������������	����	���	�	��.&��,	� 

����*����".$)��$����� ��'���(�)�*+������#�$����� %�.&������*� ��),�����#���'�

� ,��'���(�)�*+������#�$����� �������,�
�-����I! ��	�&-(�'��/�$����� ��
����O�
� %�.&�
���
��,��$�����%�O$%G��!��"	�&�
��
	�%$������ #�.���,��'���(�)�*+������#�$����� �
��$)���
 ��
���'�
-(�'��/�$�����%�� � ,	��
�������������%�O$%G��!��"%/�
)���#��������(
�
���",��%��&�
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'��� �,�����)�� �$�#���$-(�'��/�$�����	����*�� ,��������-,�����%
.&���'��$�
",�� 
�
����
��
����	������I!J$�$��� �
�%"����I����".$)��$����� ��'���(�)�*+������#�$�������*�-,��
���'H���� GH&
"����;��������*� ��'���(�)�*+������#�$������
�
�
��� 

o ����*������*�'���(�)�*+������#�$������
������*�),�)���"����;�/�
���
� 
(availability) %�N�#�������*����-(�'��/�$������� ��
�#�),�����#���'�
)���"����;�/�
���
�'�

%�O$%G��!��""(
"�

�
 ����,�
 ,������ 
 

 
 

�(�	�& 4.13   ����,�
 ������� ���".$)��$�������*�-,����� 
 
����(�	�& 4.13 %�N����".$)��$����� ��'���(�)�*+������#�$�����GH&
��%
.&���'
�
 ���
	�& 16 
 

 ���
	�& 18 %
.&���'���".$)��$����� ��'���(�)�*+�����),�����#��� 
'���(�)�*+�� %
.&���'���".$)�� ),�����#��� 
Availability �����,� 90 % 3 
Process Time ������,� 5 ����	� 2 
Cost ������,�#�.�%	,���$ 1,000 $�	 1 
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���������".$)��$�����I���
��$�,���,��$������
 ] ��),�)���"����;�/�����
�%��� 90 %���!
%G�� ! GH&
	���#���,��-����I! � ,����*�����
������%"���������IH�%�.&�-,�����%
.&���'�
 
�
������
���".$)��$����� ��'���(�)�*+������#�$�����)���
 ,���%�N����-,�����%
.&���' ���%
��
�����*�),�)���"����;�/�����
�'�
%�O$%G��!��"�����,� 90 %���!%GO� ! ����*�-,�������
�����*�),�)���"����;�/�����
�'�
%�O$%G��!��"%�N�������,� 90 %���!%GO� ! ",��%
.&���'�.&���

%#�.��%
���O��	���#��
�-����I!'�
$�����
�
�(�	�& 4.14  
 

 
 

�(�	�& 4.14 -����)��#�$����� ��'���(�)�*+������#�$������
���,�����*�����#��� 
 

4.5.1 ��	#,	�$�#��$��	���	�	��.&��,	� 

     "��#��$�����%����$%	��$$���������*���� %�N����%����$%	��$'���(�)�*+�����
�#�$�������#�,�
 '���(�'�
-(�'��/�$��������
'���$'���(�)�*+������#�$��������(
�
���",��
%��&�'����
������*�%J���'���(�%$.��
 �� ���
	�& 16 

     ���".$)��'���(�	�&-(��#�$������
����
������
�(
�
���",��'��������
�$%$����(%��
�Q�!'���(�)�*+������#�$�����GH&
-����".$)���
�
�
 ���
	�& 17  
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 ���
	�& 19 -����".$)����%$.��
 ��������!
�)��%�� 
/.&�$����� availability process time cost 
d_search 67 4.5 1,000 
E_search 60 2.5 0 
g_search 46 3.6 0 
J_search 35 3.5 500 

 
��� ���
	�&17 %�N�-����".$)��$�������*�-,����� %�.&��
�),�'���(�)�*+��'�
� ,��

$�����	�& �
 ��%
.&���'���-,����������O���-�'�
$������ ,�� ����	�����#�),�'�
-����
%����$%	��$)���� ��"���� (3) 	���#��
�-����I!
�
 ���
	�& 18, 19 ��� 20 

  
 ���
	�& 20 -����#�)����'���(�)�*+�� (availability) 

/.&�$����� availability j s1 

d_search 67 4 (1/4) * 4 =  1 

E_search 60 3 (1/4) * 3 =  0.75 

G_search 46 2 (1/4) * 2 =  0.5 

J_search 35 1 (1/4) * 1 =  0.25 

 
 ���
	�& 21 -����#�)����'���(�)�*+�� (process time) 

/.&�$����� process_time j s1 

d_search 4.5 1 (1/4) * 1 =  0.25 

E_search 2.5 4 (1/4) * 4 = 1 

G_search 3.6 2 (1/4) * 2 = 0.5 

J_search 3.5 3 (1/4) * 3 = 0.75 
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 ���
	�& 22 -����#�)����'���(�)�*+�� (cost) 
/.&�$����� cost j s3 

d_search 1,000 2 (1/4) * 2 = 0.5 

e_search 0 4 (1/4) * 4 = 1 

G_search 0 4 (1/3) * 4 = 1 

J_search 500 3 (1/4) * 3 = 0.75 
 
 GH&
�����)����*�
�-� �� ���
	�& 18, 19 ��� 20 ��%�N�),�'�
 s1, s2 ��� s3 ��"���� (4) 
 �����
�$ '��� �� ,���%�N�����#�)���� ������#��� ��)�������'�
-(�'��/�$����� GH&
��
��*����-(�'��/�$������
����#�
),�����#���'�
'���(�)�*+������#�$����� �� ���
	�& 16 GH&
���
)����*����
����"����	�& (4) ���-�	�&�
���%�N�
�
 ���
	�& 21 /,�
 )������� 
 

 ���
	�& 23 -����%����$%	��$�,��",
���$����
-(�'��/�$����� 
/.&�$����� availability process time cost )������� 
d_search 1 0.25 0.5 

0.666667 

e_search 0.75 1 1 
0.875 

g_search 0.5 0.5 1 
0.583333 

j_search 0.25 0.75 0.75 
0.5 

 


�
���������".$)��$����� ��'���(�)�*+������#�$���������*�-,�������� 	���#�-(�'�
�/�$�����������"�
���$-�%��&����'H�� ;H
���'���(����".$)�������, �
��$)��� ��
������
%	,�	�&)��GH&
����*�������
�-����I! %�N�$����� e_search %�.&�
�����),�'���(�)�*+������#�$�����
����%)��
��$)��� ��
���'�
-(�'��/�$��������	�&"�
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4.6 �	�, 

%�.��#���$	���%�N� ����,�
���	
��
���".$)��$�����  ��'���(�)�*+������#�$�����
 ��%
.&���''�
-(�'��/�$������
���,�����*�),�����#��� ���".$)��$����� ��'���(�)�*+�����
�#�$����������*�����#��� ���"�
	���%�N����".$)��$���������*�-,����� ).�����*�	�&��,
"����;#�$������
� ��'���(�)�*+������#�$�����  ��-(�'��/�$����� ��
��� � ,��	������I!
J$�$��� �
�%"������
%
.&���'���".$)��%�.&��#��
���GH&
$�����	�&��'���(�)�*+������#�$�����
����%)��
	�&"�
GH&
"����;	���
�GH&
;.�%�N�'��
�'�
��������'���(��$$����	���� 

 


